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244 | 195916 1,550 | 4 0.0] 408 0.3 A12] A19 420 12| A09] 4572| 42,169 29.7| 34.5| 35.0[ 283
258 | 197,774 | 1,606 06| A04| A05 A1l A1.4 A07 A00| AO05 4,562 41,487 A0.2| A 2.6 A1.6] AO0.7
264 | 201,973 | 1,608 1.7 09| A02 AO05 442 17| A 04| A4l 4,699 44,081 3.0 4.8 6.3 3.5
27H | 200,491 | 1,554 1.3 0.4 0.2 0.0 A0.4 1.0 1.4 A0.1] 4,216) 37,516| A 10.3| A 13.8| A 14.9| A 10.6
288 | 195979| 1525| A04 409 0.5 A0.8 1.0 0.3 1.8 0.9 4,146] 36,111] A 1.6] A 29| A3.7 2.8
2849 H| 14710 1168 a27] a32l A27] A40] A22 A29] a23] A3 3969 3432 A07] A29] Ao 3.0
10H]| 15970 126.4| A 06| 410 2.3 0.7 2.8 2.0 2.0 2.3 3147 2,731 A 0.2 AO0.1] A33 9.4
11H]| 16479| 1246| a0.1] A03] A15 a2l 1.3 1.3 0.6 11| 341.8] 2,946 8.8 9.8 7.4 125
12H]| 20676| 1598| A 12| A 13 409 A15 408 408 0.2 1.0] 332.8] 3,095 8.1 1.9 0.0 165
29£|51H 16,743 126.5| A 1.0 A1.1] A15 A22 A18 ALlS8 0.8 1.6|] 343.4| 3,124 4.4 105 10.0 4.6
2H| 14493 109.4| Aa26| A27 A39 A43] A35| A3l 0.2 1.0] 4133 3,983 8.2 9.71 122 116
3H| 16312 1224| 4ao09| A08| Ao05 Al1l] A24 A19 A24 1.4 583.8] 5,164 9.6 8.3 8.8 8.9
47| 15583 1183 0.8 1.1 0.6 0.2 AO0.4 0.0 0.2 3.1 297.3] 2,558 104 11.2]  12.6] 134
S5H| 15881 123.8| 4a06| A06 A10 Az20| A26 A22 ALY 1.4 312.4| 2,626] 13.4| 155 18.0] 20.0
6 H| 15694 1167 0.1 02| A03 A1l A24 420 0.0 2.4 396.4| 3,328 15.1] 17.3| 17.4] 26.0
TH| 17179 1326| A02] A02 A14 A22 A27 A23 ALl 12| 357.3| 3,104 2.6 3.1 4.5 111
S8HIr 15655 |r 126.4(r 0.7\r 06|r 0.1|r A09|r A 1.2|r A08[r 02{r 28 2908 2,501 4.1 4.5 1.4 5.5
9H b 1498 |p 1165|p  18p 19p 1.3]p AcolpAo02p o02)p 37)p 43 4178 3,536 5.3 5.1 3.0 7.4
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244F 125,423 881 14.3 8.1 10.2 12.0 883 | 4,976 58] A 0.3 A 9.7 21.1
254E 141,492 1,011 12.8 19.9 14.8 30.7 980 | 7,217 11.0 26.8 45.0 2.6
264E 147,940 999 46| A 3.2 A 1.2 A 136 892 5,899 | A 9.0 A 18.3| A 18.3| A 14.6
274 139,365 1,043 A58 0.6 4.5] A 3.5 909 | 6,412 1.9 1.0 8.7 13.1
284E 142,743 1,140 2.4 1.4 9.3] A 9.4 967 | 6,398 6.4 10.2 7.6 8.2
2849 H| 14,716 177.2 18.1 39.6 85.4 1.0 85.6 782 10.0 3.3 33.9 14.3
10A] 11,273 39.1| A 10.0] A 10.3| A 47.6| A 14.4 87.2 508 13.1 19.1| A 11.3] A 6.7
114 8,220 35.2 A5T 5.3| A 30.3 16.5 85.1 505 6.7 4.2 7.4 27.4
124 8,514 69.4 5.3 16.1 7.8] A 54.8 78.4 568 3.9 24.6 34.6 43.7
294E1A 6,997 39.9 7.1 15.8 3.4 A 40.0 76.5 621 12.8 20.0 10.7f A 6.2
2H 7,693 113.7 10.4 54.71 151.9 1.9 70.9 454 | A 2.6 4.8] A 17.5 10.6
3H| 14,859 211.5 10.9 33.9 41.3] A 46.2 75.9 430 0.2] A 1.4 A 14.5 53.7
4H7] 20,646 60.8 1.7] A 34.1| A 70.8 84.0 84.0 713 1.9 37.7 18.6| A 8.0
5H| 12,421 56.0 8.5 A 2.4| A 28.5| A 27.3 78.5 687 | A0.3 AT7.0 8.0 46.3
6H| 15,185 85.1 A 06| A 162 A95 A 109 87.5 552 1.7 4.9 4.5 A 13.9
7H| 12,888 191.9 A54 15.6] 115.4] A 21.0 83.2 753 A 2.3 12.7 47.1| A 27.5
8A| 11,494 106.3 A 79 A151| AB2 A126 80.6 649 | A 2.0 3.3 0.8 12.1
9H] 13,191 121.2 | A 10.4] A 12.8] A 31.6 6.0 83.1 530 | A 2.9 A 3.5 A 32.2 5.4
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244F 97.8 101.3 105.1 94.9 96.2 96.1 96.1 96.8 0.80 0.85 1.07 1.06
254F 97.0 100.5 99.6 97.2 96.6 96.3 96.2 96.9 0.93 0.98 1.21 1.23
264E 99.0 101.8 99.4 97.4 99.2 99.1 99.0 99.4 1.09 1.11 1.36 1.43
274 97.8 102.5 101.7 95.5] 100.0| 100.0| 100.0| 100.0 1.20 1.19 1.40 1.47
284 97.7 99.3 101.3 92.7 99.9 | 100.0 99.9 99.9 1.36 1.38 1.62 1.65
2859H 98.6 99.8 97.8 94.2 99.8 | 100.3 100.2 | 100.1 1.38 1.40 1.66 1.73
104 98.9 99.1 100.7 92.8] 100.4| 100.8| 100.6| 100.5 1.40 1.42 1.68 1.74
114 99.9 99.3 100.0 92.3] 100.4| 100.6| 100.4| 100.6 1.41 1.42 1.67 1.76
12H 100.6 99.6 104.5 91.6] 100.1 100.3 100.3 | 100.1 1.43 1.42 1.66 1.78
29514 98.5 101.8 104.8 92.6] 100.0 | 100.1 100.0 | 100.2 1.43 1.41 1.66 1.78
2H 101.7 103.0 100.7 96.7 99.8| 100.0 99.7 | 100.2 1.43 1.41 1.66 1.74
3H 99.8 95.5 99.6 94.1 99.9 | 100.0 99.7| 100.1 1.45 1.42 1.67 1.71
4H 103.8 98.2 103.7 91.71 100.3| 100.3 99.9 [ 100.2 1.48 1.46 1.72 1.72
5H 100.1 91.4 91.7 91.71 100.4| 100.6| 100.5| 100.5 1.49 1.47 1.77 1.71
6H 102.3 96.1 98.1 91.7] 100.2| 100.5 100.3 | 100.5 1.51 1.47 1.78 1.80
7H 101.5 {r 98.0 104.0{r 91.6] 100.1 100.3 100.2 | 100.2 1.52 1.47 1.73 1.82
8H 103.5 101.8 98.4 95.2| 100.3| 100.7| 100.7| 100.4 1.52 1.50 1.74 1.79
9H 100.5| 101.0| 100.7| 100.7 1.52 1.49 1.70 1.75
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244F 43| 11,129 209 53 96| 10,109 | 17,243 2,722 6,527 9,829 | 18,740 | 12,681
254 4.0] 10,332 167 47 96| 10,452 | 16,686 2,714 4975 10,226 | 22,347 | 12,668
264F 3.6 9,180 180 35 88 9,109 | 14,231 2,053 2,474 | 10,108 | 23,571 12,605
274 3.4 8,517 171 46 78 8,956 | 12,930 1,701 2,166 9,040 | 17,610 | 12,332
284E 3.1 8,164 126 37 64 7,944 | 10,423 1,893 1,738 7,849 | 13,845 12,169
284E9H 3.0 622 5 1 12 590.9 845.6 137.0 124.5 651.5 | 1,002.3| 12,601
104 3.0 704 7 3 2 503.6 942.2 82.2 176.9 576.4 | 1,107.8 | 12,428
114 3.1 674 11 6 5 526.3 929.6 103.9 143.7 644.3 | 1,106.0| 12,193
12H 3.1 654 5 3 4 545.0 974.9 134.0 165.0 674.4| 1,266.6 | 12,169
29%1HA 3.0 591 7 4 6| 1,006.9| 1,079.3 316.9 174.1 710.3 | 1,681.6 | 12,316
2H 2.8 664 13 3 10 651.8 | 1,062.0 152.1 232.5 7215 ] 1,353.0] 12,323
3H 2.8 807 11 1 5 930.0 | 1,178.0 128.0 228.3 841.0| 1,655.7| 12,303
4 H 2.8 650 11 1 5 680.3 903.6 195.9 146.9 610.3 | 1,242.3| 12,423
5H 3.1 784 20 4 4 741.5 | 1,042.1 265.4 234.8 579.3 | 1,555.6 | 12,519
64 2.8 751 15 6 3 706.9 | 1,094.6 102.5 215.4 750.4 | 1,300.6 | 12,498
7H 2.8 698 8 3 1 784.7| 1,121.8 261.3 188.0 752.9 | 1,361.4] 12,600
8H 2.8 666 9 2 6 693.8 |r  970.9 189.1 [r  169.3 786.9 |r 1,440.3 | 12,680
9H 2.8 648 10 3 6 556.1 |p 1,104.5 51.8 b 183.3 744.8 |p 1,352.0 | 12,663
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